Joooogoginooouoooodot

200700 20 2000

Oooodoogn

e JOUUOUDLDODDOUOOOUOOOLDDUOOODLDLDOUOOUODLDODOO

e HUOUDOUODLOODLOODLOODDOOLODODLDLOODLOODLOODLOODO
gbogbobobobobbobobobooboobboobboobooon x,
gogbo-0oo

1 doooobogoz2o0dboogobogoboood

db0mbOO00OO0OO0OO0OOODbOOO0O0O0bOO0Ol/0ObOobOoOoDbOooooobobo
gopboboo1l1ogboooooobooobooobo bbb OobODOO
gogbbbuooooboboooobobobuoooooboo

d?0
ml@ = —mgsinf (1)

gbddgbOO0bO0O0DOO0O0DbOO0DbOODbObLOOObOO0ObOO0bOo0DbO

(i) () b000o0o0ooooooooooooOoOoOoOOoOOoOoOOoOoOooooo
1

ggon

(ii) (1)DDDD 0000000k 1000000000 OOOOOOO
2
ml@:—mge (2)

gobobooogbon

(i) (2) 00000000000 DOOOO0DO0OOOO0ODO0OODOOODODOOOO

goon

00D00000000000000000 (1)00000002000000 6,6,0000
000000000, 000000000¢a0 +cb0 (1)ODOOOOO

1



O1L00mOi000000ODOO0ODODOOOO!/OD0OO0OOODOODODODO
gaon

(iv) (2)000000000000000000
0000

(v) 0000,0(t00) =6, ($),,=000000 (2)000000000

(vij 00000 F=Asin(wt), 00000AD0O000w #,/40000000
0000000000 0000DD0OO0

d26 . :
mlﬁ = —mgsin 0 + Asin(wpt) (3)

ggbbobuoooobbobuoooobbboodan

(vii) 3)00000w,=+/2000000000000000000000

2 Fourierl OO0

00 —-L<z<LO00000D0000D0O0O0O0D0DOO0O0OO0 f(z) = f(x+2L)0
0000 200000 f(x) 000000000000 O00OO FourierDOODODO
ERERE

0w . nTx
23—1—2{@”008——1-1) smT}. (4)

n=1



Fourier 00O a,, (n=0,1,2,...),b,, (n=1,2,...) O

a, = l/L f(x)cos@dx, (5)

nmx

b, = /f sin—d:v (6)
goooobobbbbbboooooooooooon

(i) —r<z<70000 f(z)=2*000000 200000 f(z) 0O Fourier
goouooboobbobbooooooouoooon

)

) f(x) O Fourier 000000000

(C) f(I)D Fourler OO QOQOO0O0ODO 300000000 0O0ODOO
) f

(x) O Fourter 000000000 20000 —n<zx<70000
gboooboogg

(e) 00000

1 1 1
ﬁ+§+§+... (7)

gooobodd

3 00 Fourierl OO OO

—-L<r<L0O000000O000OO 20000 f(x) OO

— i Cneinﬂ'x/LD (8)

n=—oo

ggbbobuoooobbobuoooobobboodad

(i) 00 Fourier OO ¢, O

o = 1 /L f(x)e—mrrz/l/dx (9)
"L,

0000000000000000000 f(z)0 FourierD0 00 f(z) =
@ 4 5% (a,cos ™2 4+ b,sin ") 00 000000000(10) 0000 ¢,
0000000000

(i) 00 f(x)00000000000000¢ =c, 000000000000
0000 000000000



4 Fourier OO OO

O Fourier OO 0O0O0O Fourier OO OFourier OO0 OO OO0O0OOO0OOOOOOO
Oo00oOoooOom

o HUuouoogn

0ooooo (10)

%:m%, (k > 0) (10)

goooond
w(0, 1) = u(L, 1) =0 (11)

googod
u(z,0) = f(z) (12)

ggbbbuoooobboooobobbboodoboo

() 000 (100000000000

(i) 000 (lo)ooooO0OO0oO0O000U000D0DooooooooooooDoOO
oo

(iii) (100000000
u(z, t) = X(z)T'(t) (13)

0000(l0)00000o0oo0oo0ooooooooooooo????0m
0

(iv) X(z), T(t) 0000000000000000000

(v)y 00000000 T0OD0O0O0ODO0ODODODOOOOOODOODOOOCOOODOOO
O0000000000000000000o0oooooOoon)

(vij OO (iv) 00000 XOOOOOOooOOooooooooooo

(vii) 0000 (11) 0 wz,¢)0000000000000000 X(z)0000
00000000000

(vii) (vil0O0OO0DOO0O0OO00O00 X(z) 0000000
(ix) 00000000000 w(z, ¢) 0000000

(x) DO0ODDOOO0O0OO0O w(e,t) DODODODOO



6 GaussOOOdQOn0

gobboogoobobo.godb,ae>0000.0

(i) /OO exp (—az?) dz

—00

(ii) /0 T exp (—az?) dz

(iti) T(n) = [["2" e *rde 000000 GammaO OO I'(3) 00O

7T oooogn

0000000000000000000
() 0000000 V x (Ve) =0

(i) 0000000 V- (VxA) =0



